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2% HiNo. K = 1% 1 pabis
1 K FEHT = 1] N 3908-3 £ 2, 445
2 | RBEETE = /i 3885 HH 1,178
3 KBEAT A1 HE ) H 4088 H 2,302
4 | KBEETE N HE 4089-1 HH 893
5 | KFEETEI HE 4089-2 FH 887
6 KEEHTE 1] AT 3954 H 901
7 KBEHT 1] AT 3955 H 1,014
8 | KEEETAI EAF 3960-1 FH 343
9 K BEHT 51 EAF 3961-1 M 1,101
10 [ KRFEHETE) AT 3968 B 775
11 NG E=I EXN) 3979-2 H 262
12 | KBEHTE)1 HH 3852-1 H 2,672
13 | KFEHEE TRARIE 3673-3 H 305
14 [REMEEN RH}E 8328-1 il 1,989
15 [REMEEN KiH 1975-1 il 1,719
16 [REMHEEN KiH 1975-2 il 235
17 K B @) PRoT 2005-3 i 1,462
18 [REMEEI Poo 2005-7 K 1,361
19 [REMEEEN BT 2007-1 K 2,509
20 | REHTEE BT 2008-1 vl 1,986
21 Ko ER ] B IR AR 6349-1 S 3,706
22| BAERHT R {5 ki ) 2633 S 5,176
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